MatchedRecoVix_vs_GenVix |

| RecoVix_vs_GenVix

N
o
o

=
(o]
o
|
=
N
o
i

......................................................

[e2]
o

H
S
| T

Reco vertices
L=
N
o
T

=
o
o
T |
.

120F
100}

Matched reco vertices
(o]
o
| LI
=3
:—!E:

o
o
I

TT

I

o
[

.......................................................................

T

N

(=)
|

&

Ratio
Ratio

0955645 160 180 200 226 540 0926 140 160 180 200 220 240
Simulated interactions Simulated interactions
—=— DQM_beforePR

| Merged vs Closest] —— DQM_afterPR
—— DQM_correctCheck

9
d

o

© »
N O

Merge rate
Merge rate

o

(%)

a
[

o
w
I

025

»
Sorhoo

10 15 20

107 1072 10" 1
Closest distance in Z (cm) Z (cm)



	Contents
	Page 1


